ACTIVITY -7

Q-1. Mrs Taneja had Rs 8000 in her purse . She spent Rs 4930 on grocery .
How much money is left with her ?

Sol : Total money = Rs 8000
Money spent on grocery = - Rs 4930
Left money = Rs 3070

Q-2. The cost of one pen is Rs 15.50 . How much will Anita pay if she buys
5 pens ?

Sol : Cost of 1 pen = Rs 15.50

Cost of 5 pens = Rs 15.50 x 5 =Rs 77.50

Q-3. A set of 6 boxes costs Rs 294 . What is the cost of each box ?
Sol : Cost of 6 boxes = Rs 294 + 6 = Rs 49

Q-4. Mona bought a story book for Rs 57.50 . She gave the shopkeeper Rs
100 . How much money will she get back ?

Rs p
Sol : Money given to shopkeeper = 100 00
Cost of story book = - 57 50
Money get back = 42 50

Q-5. Tanu, Mini and Vikas went to see a movie . If each ticket costs Rs
154.75 . Find the total money paid altogether for the tickets .

Sol : Cost of 1 ticket = Rs 154.75
Cost of 3 tickets = Rs 154.75 x 3 = Rs Rs 464.25






